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• Ñi;k tk¡p dj ysa fd bl iz'u-i= esa eqfnzr i`"B 15 rFkk iz'u 
39 gSaA 
Please make sure that the printed pages in this 
question paper are 15 in number and it contains 
39 questions. 

• iz'u-i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcj dksM uEcj dksM uEcj dksM uEcj dks Nk= mÙkj-
iqfLrdk ds eq[;-i`"B ij fy[ksaA 
The Code No. on the right side of the question paper 
should be written by the candidate on the front page 
of the answer-book. 

• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad 
vo'; fy[ksaA 

Before beginning to answer a question, its Serial 
Number must be written. 
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• mÙkj-iqfLrdk ds chp esa [kkyh iUuk / iUus u NksMsa+A 
Don’t leave blank page / pages in your answer-book. 

• mÙkj-iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA 
vr% vko';drkuqlkj gh fy[ksa vkSj fy[kk mÙkj u dkVsaA 
Except answer-book, no extra sheet will be given. 
Write to the point and do not strike the written 
answer. 

• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA 
Candidates must write their Roll Number on the 
question paper. 

• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u-i= 
iw.kZ o lgh gS] ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok 
Lohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkA    

 Before answering the questions, ensure that you 
have been supplied the correct and complete 
question paper, no claim in this regard, will be 

entertained after examination. 

uksV %uksV %uksV %uksV %        (i) bl iz'u-i= esa dqy 39 iz'u gSa tks pkjpkjpkjpkj [k.Mksa % ^v*] ^v*] ^v*] ^v*] 
^c*] ^l*^c*] ^l*^c*] ^l*^c*] ^l* rFkk ^n*^n*^n*^n* esa foHkDr gSaA 

        This question-paper consists of 39 questions 

which are divided into four Sections : 'A', 'B', 

'C' & 'D.' 

 (ii) funsZ'kkuqlkj lHkhlHkhlHkhlHkh [k.Mksa ls iz'uksa ds mÙkj nhft,A 

        Attempt questions from all sections as per 

instructions. 



 ( 3 ) 4344 

4344  P. T. O. 

    [k.M[k.M[k.M[k.M    – vvvv    

SECTION – A 

¼nh?kZ mÙkjh; iz'u½¼nh?kZ mÙkjh; iz'u½¼nh?kZ mÙkjh; iz'u½¼nh?kZ mÙkjh; iz'u½    

(Long Answer Type Questions) 

uksV %uksV %uksV %uksV %        bl [k.M esa rhu iz'u (1 ls 3) fn, x, gSa] fdUgha nksnksnksnks dk 
mÙkj nsuk gS] izR;sd ds 6 vad gSaA 2 × 6 = 12 

  In this section there are three questions (1 to 

3), out of these only two are to be answered, 

each has 6 marks. 

  1. /kku dh ijkyh ds fy, izcU/ku ds dkSu-dkSu-ls rjhds gSa \ 
foLrkj ls fy[ksaA /kku dh ijkyh ds D;k-D;k mi;ksx gSa \ 

 What are the methods of paddy straw 

management ? Explain in detail. What are the 

uses of paddy straw ? 

  2. /kku dh dVkbZ ¼gkosZfLVax½ D;k gS \ dVkbZ djrs le; fdu-fdu 
ckrksa dk /;ku j[kk tkrk gS \ dEckbu gkjosLVj ds ckjs esa 
fy[ksaA 

 What is rice harvesting ? Write about factors 

considered while harvesting. Also tell about 

combine harvesting. 
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  3. /kku Hk.Mkj.k ds D;k-D;k fn'kkfunsZ'k gSa] muds ckjs esa fyf[k, \ 
vpkud tyok;q ifjorZu dh voLFkk esa D;k-D;k mik; djus 
pkfg, \ /kku dh [ksrh esa Hkwfe-ueh dks dSls cuk, j[kk tk 
ldrk gS \ 

 Write about the guidelines of storage of rice. 
What are the measures required to be taken 
during aberrant weather situation ? How the soil 
moisture conservation in paddy farming is done ? 

[k.M[k.M[k.M[k.M    – cccc    
SECTION – B 

¼y?kq mÙkjh¼y?kq mÙkjh¼y?kq mÙkjh¼y?kq mÙkjh; iz'u½; iz'u½; iz'u½; iz'u½    
(Short Answer Type Questions) 

uksV %uksV %uksV %uksV %        bl [k.M esa ik¡p iz'u (4 ls 8) fn, x, gSa] fdUgha pkjpkjpkjpkj dk 
mÙkj nsuk gS] izR;sd ds 3 vad gSaA 4 × 3 = 12 

  In this section, there are five questions (4 to 8), 
out of these only four are to be answered, each 

has 3 marks. 

  4. /kku dh [ksrh esa dkSu-ls eq[; baVjdYpjy dk;Z gSa \ 
 Which are the main intercultural operations in 

paddy cultivation ? 

  5. Ñf"k esa iz;ksx gksus okys jlk;uksa ds D;k dqizHkko gSa \ 
 What are the harmful affects of agro chemicals ? 

  6. [ksrh lEcU/kh dkSu-lh ijke'kZ lsok,¡ gSa \ 
 Which are agro advisory services ? 
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  7. /kku ds foi.ku ¼ekdsZfVax½ ds oxhZdj.k  dk fooj.k nhft,A 

 Explain the classification of marketing of rice. 

  8. lapkj-pØ D;k gS \ 

 What is Communication Cycle ? 

[k.M[k.M[k.M[k.M    – llll    
SECTION – C 

¼vfry?kq mÙkjh; iz'u½¼vfry?kq mÙkjh; iz'u½¼vfry?kq mÙkjh; iz'u½¼vfry?kq mÙkjh; iz'u½    
(Very Short Answer Type Questions) 

uksV %uksV %uksV %uksV %        bl [k.M esa lkr iz'u (9 to 15) fn, x, gSa] fdUgha N%N%N%N% dk 
mÙkj nsuk gSA izR;sd ds 2 vad gSaA 6 × 2 = 12 

  In this section, there are seven questions (9 to 

15), out of these only six are to be answered, 

each has 2 marks. 

  9. ekSf[kd lapkj D;k gS \ 
 What is verbal communication ? 

10. dhVuk'kd nokb;ksa ds lqjf{kr iz;ksx ds rjhdksa ds ckjs esa fy[ksaaA 
 Write the procedure for safe use of pesticides. 

11. /kku dh ijkyh dks tykus ls D;k gkfu;k¡ gSa \ 
 What are the disadvantages of burning of paddy 

straw ? 
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12. leku dk <ksuk D;k gS \ 

 What is hauling ? 

13. lqjf{kr Hk.Mkj.k ds eq[; fcUnq D;k gSa \ 

 What are the main points of safe storage ? 

14. /kku dh Qly fudkyrs ¼Fkzsflax½ le; D;k-D;k lqj{kk ds mik; 

djus pkfg, \ muds uke fy[ksaA 

 Name the safety measures during threshing of 

rice crop. 

15. cktkj esa cspus ;ksX; Qkyrw (ljIyl) D;k gS \ 

 What is marketable surplus ? 

[k.M[k.M[k.M[k.M    – nnnn    

SECTION – D 

¼oLrqfu"B iz'u½¼oLrqfu"B iz'u½¼oLrqfu"B iz'u½¼oLrqfu"B iz'u½    

(Objective Type Questions) 

uksV %uksV %uksV %uksV %        bl [k.M esa pkSchl iz'u (16 ls 39) fn, x, gSa] ftlesa ls 
iz'u 16 ls 29 rd mi;qDr ,d 'kCn }kjk fjDr LFkku 
Hkjus ls lacaf/kr gSa rFkk iz'u 30 ls 39 rd cgqfodYih; 
iz'u gSaA fn, x, pkjpkjpkjpkj fodYiksa esa ls lghlghlghlgh mÙkj pqusaA lHkhlHkhlHkhlHkh  
iz'uksa ds mÙkj nsaA izR;sd dk 1 vad gSA 24 × 1 = 24 
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  In this section, there are twenty four questions 

(16 to 39), in which questions from 16 to 29 

are related to fill in the blanks by appropriate 

one word and questions from 30 to 39 are 

multiple choice questions. Choose the correct 

answer from given four options. All questions 

are to be answered. Each has 1 mark. 

16. /kku dh ijkyh dh dkcZu-ukbVªkstu vuqikr (C-N Ratio) 

........ gSA 

 C-N Ratio of paddy straw is ............ . 

17. /kku dh ijkyh i'kqvksa ds uhps ------------- tkrh gS tks 
vkjkens; gksrh gSA 

 Paddy straw is used for ............. in animals 

padlocks. 

18. [kjirokj ikuh o rRoksa ds fy, ------------ ls eqdkcyk djrs 
gSaA 

 Weeds compete for water and nutrients         

with .............. . 

19. /kku dk Hkwlk] [kkyh nkus rFkk [kjirokj ds chtksa dks gok ;k 
Cyksoj }kjk vyx djus dks ---------- dgrs gSaA 

 Removal of weed seeds, unfilled grain, paddy- 

chaff with air or blower is called ............. . 
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20. [kkus rFkk ihus ls igys gkFk ---------- pkfg,A 

 Before eating or drinking hand .............. is 

required. 

21. ekulwu dh o"kkZ ,d izdkj ls ------------ fdLe dh gSA 

 Mansoon rainfall is of ............ nature. 

22. o"kkZ dh nsjh ds dkj.k nsj ls /kku jksi.k ds fy, ------------- 
vof/k dh fdLe dks vf/kd egÙkk nh tkrh gSA 

 In delayed planting due to delayed rain .......... 

duration veriety of rice is preferred. 

23. /kku dh vf/kd ykxr e.Mh esa cspus ds fy, -------------- ds 
dkj.k gksrh gSA  

 High marketing cost of paddy is due ............ 

cost. 

24. twV ,d ------------- Qly gSA 

 Jute is a .............. crop. 

25. lh[kus dh izfØ;k ------------ ek/;e ls vkrh gSA 

 Learning process outcome is through ............. . 

26. nwjh ,d izdkj dh ------------- esa #dkoV gSA 

 Distance is a .............. obstacle. 
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27. ------------- lapkj ds fy, iz;ksx gksrk gSA 

 ................ is used for communication. 

28. iz;ksx djus ls igys ---------- dh tk¡p-iM+rky djuk 
ykHknk;d gSA 

 Pre use check of ............... is always useful. 

29. /kku dh Qly dks ------------ le; dqN gkfu Hkh gksrh gSA 

 Some losses is there during ........... of rice crop. 

30. /kku dh ijkyh esa dkcZu-ukbVªkstu dk vf/kd vuqikr (gkbZ 
jsf'k;ks) D;k n'kkZrk gS \ 

 ¼d½ dkcZu dk vf/kd gksuk  

 ¼[k½ ukbVªkstu dh vf/kd ek=k 

 ¼x½ dkcZu dh de ek=k  

 ¼?k½ dkcZu-ukbVªkstu dh cjkcj ek=k 

 What does high C-N ratio of paddy straw 

indicate ? 

 (A) High C contents 

 (B) High N contents 

 (C) Low C contents 

 (D) C and N contents are equal  
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31. fdldh txg /kku ds Hkwls dk iz;ksx] iSfdax eSVsfj;y ds :i esa 

djrs gSa \ 

 ¼d½ FkeksZdksy dh txg  

 ¼[k½ IykfLVd dh txg 

 ¼x½ jsr dh txg  

 ¼?k½ iRFkjksa dh txg 

 Paddy straw is used as packing material in place 

of : 

 (A) Thermocol  

 (B) Plastic 

 (C) Sand  

 (D) Stones 

32. [ksr esa iuhjh yxkus ds fdrus fnuksa ckn ¼izfrjksi.k ds ckn½ /kku 
dh Qly esa QqVko gksrk gS \ 

 ¼d½ 10 fnu ckn  

 ¼[k½ 22 fnu ckn 

 ¼x½ 35 fnu ckn  

 ¼?k½ 50 fnu ckn 
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 Tillering in paddy crop, is in how many days 

after transplanting ? 

 (A) 10 days  

 (B) 22 days 

 (C) 35 days  

 (D) 50 days 

33. /kku ds [ksr esa fdl le; [kjirokj fudkyus dh fØ;k euq"; 
;k e'khu }kjk dh tkrh gS \ 

 ¼d½ Qly idus ds le; 

 ¼[k½ ikS/k-jksi.k ds le; 

 ¼x½ Qly QqVko ds le; 

 ¼?k½ ikS/k-jksi.k ls igys 

 At which stage mechanical or manual weeding in 

rice field is done ? 

 (A) at maturity of crop 

 (B) at transplanting 

 (C) at start of tillering 

 (D) before transplanting 
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34. dEckbu gkjosLVj }kjk /kku esa fuEufyf[kr esa ls D;k ughaughaughaugha  fd;k 
tkrk \ 

 ¼d½ nkus fudkyuk  

 ¼[k½ Qly dkVuk 

 ¼x½ Qly ys tkuk  

 ¼?k½ nkus pqxuk 

 Which of the following in paddy is not done by 

combine harvester ? 

 (A) Threshing  

 (B) Reaping 

 (C) Hauling  

 (D) Picking 

35. dhVuk'kd nokb;ksa ds tgjhys gksus ds lk/kkj.k rkSj ij dkSu-
dkSu-ls y{k.k gSa \ 

 ¼d½ flj nnZ  

 ¼[k½ mYVh vkuk 

 ¼x½ lk¡l ysus esa dfBukbZ  

 ¼?k½ mijksDr lHkh 
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 Common symptoms of pesticide poisoning are : 

 (A) Headache  

 (B) Vomiting 

 (C) Difficulty in transpiration  

 (D) All of the above 

36. /kku ds Hk.Mkj.k esa lqjf{kr ueh dk Lrj D;k gS \ 

 ¼d½ 22 izfr'kr ¼[k½ 25 izfr'kr 

 ¼x½ 30 izfr'kr ¼?k½ 12 izfr'kr 

 What is the safe moisture level in rice for storage ? 

 (A) 22 percent (B) 25 percent 

 (C) 30 percent (D) 12 percent 

37. feV~Vh <dus ds fy, dkSu-lk eYp vPNk gS \ 

 ¼d½ lQsn IykfLVd  

 ¼[k½ dkyk IykfLVd 

 ¼x½ ?kkl-Qwl 

 ¼?k½ buesa ls dksbZ ugha 
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 Which is good mulch for soil covering ? 

 (A) White plastic  

 (B) Black plastic 

 (C) Grass  

 (D) None of these 

38. Qly dVkbZ ds le; o"kkZ vf/kd gksus ls D;k gksrk gS \ 

 ¼d½ mit esa o`f) 

 ¼[k½ nkuksa dk [kjkc gksuk 

 ¼x½ dksbZ izHkko ugha 

 ¼?k½ Qly esa iÙks vkfn vf/kd vkuk 

 Heavy rains during harvesting time : 

 (A) Increase the yield  

 (B) Damage the grains 

 (C) No effect  

 (D) Increase in biomass 
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39. ukbVªkstu [kkn dks [ksr esa fn;k tkrk gS % 

 ¼d½ ,d ckj esa 

 ¼[k½ 2-3 [kqjkdksa esa 

 ¼x½ pkj [kqjkdksa esa 

 ¼?k½ ik¡p [kqjkdksa esa 

 Nitrogenous fertilizers is applied : 

 (A) in one time  

 (B) 2-3 splits 

 (C) 4 splits  

 (D) 5 splits 

 

SSSS     


